


Overhead Distribution Construction Manual Section 4

Ver. 2.0 33kV Constructions Page 4-2



Overhead Distribution Construction Manual Section 4

SECTION 4 — 33kV CONSTRUCTIONS

4 SECTION 4 — 33KV CONSTRUCTIONS ..ttt 3
33KV FRP CONSTRUCTIONS ...ttt ettt 4
4.1 Intermediate 33KV — FRP CrOSSarm.....ccuiiiiiiiiiiieiiieeie e 4
4.2 Intermediate 33kV Offset — FRP CroSSarm .......cocuoiiiiiiiiiieiie ittt 6
4.3 Intermediate Delta 33KV — FRP CroSSarm ....cc.ciiiiiiiiiieeiie it 8
4.4 Intermediate Vertical 33kV Double Circuit = FRP Crossarm.........cccccoverienieinienieeieniee 10
4.5 Dead ENd 33KV = FRP CrOSS@IM ...coiiiiiiieiieeiit ettt 12
4.6 Dead End Delta 33KV — FRP CrOSSarmM . ..ccueiiiieiieiiieaiie ettt 14
4.7 Dead End Vertical 33kV Double Circuit — FRP Crossarm ........ccccoeoieeiiieeiiieiiieeeee e 16
4.8 Strain 33KV = FRP CrOSSAIM ...uiiiiiiieiiiie ettt ettt ettt 18
4.9 Strain Delta 33KV — FRP CroSSarm ... o ettt 20
4.10 Strain Underslung Vertical 33kV Double Circuit — FRP Crossarm......cccccceeeieeiiiiiiiiiieeeeeee, 22
4.11 Strain Right Angle 33KV — FRP CroSSarM .....ooiiiiiiiiiee e 24
4.12 Strain Right Angle Delta 33KV — FRP CroSSarmM.......uc i 26
33kV STEEL CROSSARM CONSTRUCTIONS ...ttt ettt 28
4.13 Intermediate 33kV - FIat MKS CroSSarmm ......co e 28
4.14 Intermediate 33kV - Delta MKS CroSSarmi......cueeiiieiiiieeiiee et 30
4.15 Dead End 33KV FIat — MKS CroSSarm .....cciiiiiiiie ittt 32
4.16 Dead End 33KV Delta — MKS CrOSSArM .....uie ittt 34
4.17 Strain 33KV - FIAt IMKS CrOSSarmm ...ei ettt 36
4.18 Strain 33kV — Flat Underslung Bridging MK5 Crossarm.........c...ceeoeiiiiiiiiiiieieeeeeeeeiiieeeeeee 38
4.19 Delta 33KV - Strain IMKS CrOSSaIM ...coiuee ettt 40
4.20 Strain 33kV - Right Angled MK5S CroSSarim ....cocueeiieeeee e 42

Ver. 2.0 33kV Constructions Page 4-3



Overhead Distribution Construction Manual Section 4
4.1 Intermediate 33kV — FRP Crossarm
1 \ 2 \ 3 \ 4 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
A
B
_ |
i i |
o
L 2
o -
3 oo
awE
o 2
wv (e}
w23
( o x
e
<0E
[a W} <t
wmw = o
<
>
L - =
228
>90Z
TEE
E Qe
= E
a2
CONDUCTOR TIES TO SUIT
_[. CONDUCTOR SIZE/TYPE
_ o
% ©
£ ————
72090 ) T208A 824 (75T =
o
I o
<
82A 870 j
F
G
— <<=
NOTES
1. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS
H | 2. CENTRE PHASE TO BE STAGGERED
SWAP SIDES ON ALTERNATE POLES
3. SUPERSEDES STEEL X-ARM CONST.
APL Nos DIMENSIONS ARE IN MILLIMETRES
D-0HC-D001-5D-001 1/33/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn trad T Net Kk STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
> TasNetwork: T SIME
-2 shetworks INTERMEDIATE 33KV 125
< | FRP CROSSARM
- Z DRAKN ELECTRO
w |2 DESIGNED BY B. MAYBERRY
=
= e CHECKED BY K. GOSDEN AL'L
=
< APPROVED BY | MCHAEL COOPER _ _ _ _ REVISION
DATE APPROVED | FEB 2022 D O H[ D O W O S D O OW A
Ver. 2.0 33kV Constructions Page 4-4



Overhead Distribution Construction Manual Section 4
Intermediate 33kV — FRP Crossarm - Material List
1 [ 2 [ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
B
Unit Assembly [Store Type |Item Ref| Stock Item |Stock Item Description Quantity
I/33/3/FRP S 60F 320541 |Insulator, Pin Type 3
75E 32279 |Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 |Bolt Hex M16 X 375 - Thread Length 75mm 1
Ol ex - rea eng mm
C 75T 32293 |Bolt Hex M16 X 475 - Thread Length 75 1
82A 40441 |Nut Hex M16 5
87D 65616  |Washer NS M16 4
86B 65158  |Washer ELS M16 2
— T200C | 323219 |CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
T203A | 323316 |XARM BRACE - 716x40x8 1
T204B New PIN, INSULATOR - (MORLYNN - C3007) 298mm stem - 58mm to base of insulator from xarm 3
T208A | 323306 |GAIN BLOCK 100mm 1
D T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
« trading as TasNetworks OR TRANSHITTED B ANY MEARS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
i TasNetwork: TITLE SCALE
- |2 astietworks INTERMEDIATE 33KV NTS
<|Z Py FRP CROSSARM
DRAWN C
ol = MATERIAL LIST
w = DESIGNED BY B. MAYBERRY A A
= e CHECKED BY K. GOSDEN
< APPROVED BY | MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED |FEB 2022 D O H [ D O /‘O S D OO 2 A
Ver. 2.0 33kV Constructions Page 4-5




Overhead Distribution Construction Manual Section 4
4.2 Intermediate 33kV Offset — FRP Crossarm
1 \ 2 \ \ 4 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
— =
i @]
@
1203 ‘
B
(
- <
D
CONDUCTOR TIES TO SUIT CONDUCTOR SIZE/TYPE i
E
~N
5
75T =R
12000 T208A
T209D
F
82 87D
G |-
- <
H
NOTES
APL Nos DIMENSIONS ARE IN MILLIMETRES
1. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS OFFSET/33/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks SR TRANGHITTED 7. ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] TITE SCALE
- 12 TasNetworks INTERMEDIATE 33KV OFFSET P
<| FRP CROSSARM
o Z DRAWN ELECTRO
w |8 DESIGNED BY B.MAYBERRY
= g CHECKED BY K.GOSDEN AL
= APPROVED BY  MICHAEL COOPER B B B B REVISION
o oo [P0 2022 D - ORC - DO S0 - 001 A
Ver. 2.0 33kV Constructions Page 4-6




Overhead Distribution Construction Manual Section 4
Intermediate 33kV Offset — FRP Crossarm - Material List
1 [ 2 [ 3 [ L 5
A
B
Store Type |Item Ref| Stock Item |Stock Item Description Quantity
OFFSET/33/3/FRP S 60F 320541 |Insulator, Pin Type 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75T 32293 Bolt Hex M16 X 475 - Thread Length 75mm 1
82A 40441 Nut Hex M16 5
86B 65158 Washer ELS M16 2
87D 65616 Washer NS M16 4
C T200D 323221 |CF XARM - 2840x100x100 - CA-100 SHS 2.834m OFFSET 1
T203D 323319 | XARM BRACE - 1854x75x75x8 1
T204B New PIN, INSULATOR - (MORLYNN - C3007) 298mm stem - 58mm to base of insulator from xarm 3
T208A 323306 |GAIN BLOCK 100mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
D
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o trading as Tasietorks ST A RV S8 o e
E4 ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
212 TasNetworks e SCALE
- |2 INTERMEDIATE 33KV OFFSET NTS
<|Z o FRP CROSSARM
DRAWN CTRO
ol = MATERIAL LIST
w = DESIGNED BY B.MAYBERRY A A
e CHECKED BY [ K.GOSDEN
-
< APPROVED BY | MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED | FEB 2022 D OHC D O 11 SO O 02 A
Ver. 2.0 33kV Constructions Page 4-7




Overhead Distribution Construction Manual Section 4
4.3 Intermediate Delta 33kV — FRP Crossarm
1 \ 2 \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED
ON ALL BOLTS PASSING THROUGH THE POLE
A
B
|
i I 3 il
i / q
(72090 X T208A X870 X824 )T5W ) ¥
- #
o
D
[ e~
£ CONDUCTOR TIES TO SUIT
[ONDU[TOR SIZE/TYPE
%
F
]
G T200C
= 75w
— 3
=
75T
NOTES L
H 1. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS
2. SUPERSEDES STEEL X-ARM CONST. = APL Nos DIMENSIONS ARE IN MILLIMETRES
D-0HC-D002-SD-001 DELTA 1/33/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM
i frading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN- 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
213 TasNetworks TILE SCALE
-7 INTERMEDIATE DELTA 33KV
! 125
< |z FRP CROSSARM
~ |= DRAWN ELECTRO
w |9 DESIGNED BY B.MAYBERRY
= % CHECKED BY K.GOSDEN AL
z APPROVED BY MICHAEL COOPER REVISION
< _ _ _ _
oare amerD FEp 2022 D OHC D012 SD 001 A
Ver. 2.0 33kV Constructions Page 4-8




Overhead Distribution Construction Manual Section 4

Intermediate Delta 33kV — FRP Crossarm - Material List

—

1 [ 2 [ 3 [ L 5
A
B
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
DELTA S 60F 320541 |Insulator, Pin Type 3
[ ||v33/3/FRP 75E 32279  [Bolt Hex M16 X180 - Thread Length 57mm 1
75T 32293 Bolt Hex M16 X475 - Thread Length 75mm 1
75W 32296 Bolt Hex M16 X 550 - Thread Length 75mm 1
76E 32332 BOLT,Hex Head M20 x 150mm Gal. c/w Nut 1
C 82A 40441 Nut Hex M16 5
87D 65616  |Washer NS M16 6
T200C 323219 [CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
T202 323225 |CF DELTA RISER - AOA01555 - 1833x100x100 - CA-100 SHS 1.824 RISER 1
T202A 323226 [BRACKET, CF DELTA RISER 1
— T203A 323316 |[XARM BRACE - 716x40x8 1
T204B New PIN, INSULATOR - (MORLYNN - C3007) 298mm stem - 58mm to base of insulator from xarm 3
T208A 323306 [GAIN BLOCK 100mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
D
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o trading o5 TosNetworks SIS A RV SRR o e
E4 ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°ls TasNetwork: TmE SCALE
- |2 astietworks INTERMEDIATE DELTA 33KV NTS
<|Z o FRP CROSSARM
DRAWN CTRO
ol = MATERIAL LIST
w = DESIGNED BY B.MAYBERRY A Z*'
e CHECKED BY | K.GOSDEN
< APPROVED BY | MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED | FEB 2022 D O H [ D O /‘ 2 S D O O 2 A

Ver. 2.0 33kV Constructions Page 4-9



Overhead Distribution Construction Manual Section 4

4.4 Intermediate Vertical 33kV Double Circuit — FRP Crossarm
-

1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED
ON ALL BOLTS PASSING THROUGH POLE.

150

1150

I RO B i
- /
: N

; :

i ! ! B I 1
. /

65 1355 l 1355 6!

gan
A

412

~ 1150

a

E LEIED 2050
CONDUCTOR TIES TO SUIT
CONDUCTOR SIZE/TYPE b EEER
F
T208A 205
G
|| = M- PTG D GF
NOTES
~ = DIMENSIONS ARE IN MILLIMETRES
1. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS APL Nos: IV/33/3/FRP UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading das 1asNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
212 TasNetworks T SCALE
A INTERMEDIATE VERTICAL 33KV DOUBLE CIRCUIT 130
<|Z FRP CROSSARM
o |2 DRAWN ELECTRO
w |2 DESIGNED BY | B.MAYBERRY
=
=|e CHECKED BY K.GOSDEN AAL
=
< APPROVED BY | MICHAEL COOPER D OHC D013 sD 001 REVISION
DATE APPROVED | FEB 2022 A

Ver. 2.0 33kV Constructions Page 4-10



Overhead Distribution Construction Manual Section 4
Intermediate Vertical 33kV Double Circuit — FRP Crossarm - Material List
W l 2 l l : l 5
A
Store Type [Item Ref| Stock Item [Stock Item Description Quantity
IVI33/3/FRP S 60F 320541 |Insulator, Pin Type 6
B 75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 3
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75Q 32290 Bolt Hex M16 X400 - Thread Length 75mm 2
75T 32293 Bolt Hex M16 X475 - Thread Length 75mm 1
[ 75U 32294 Bolt Hex M16 X 500 - Thread Length 75mm 2
82A 40441 Nut Hex M16 15
86B 65158 Washer ELS M16 6
87D 65616 Washer NS M16 12
C T200C 323219 |CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 3
T203A 323316 |XARM BRACE - 716x40x8 3
T204B New PIN, INSULATOR - (MORLYNN - C3007) 298mm stem - 58mm to base of insulator from xarm 6
T208A 323306 |GAIN BLOCK 100mm 3
[ T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 3
D
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 Fradng as TosNetuarks SRR VL ST YA T
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°ls TasNetwork: TmE SCALE
- |2 ashetworks INTERMEDIATE VERTICAL 33KV DOUBLE CIRCUIT NTS
<|Z - o FRP CROSSARM
DRAWN CTRO
ol = MATERIAL LIST
w = DESIGNED BY B.MAYBERRY A Z*'
e CHECKED BY | K.GOSDEN
< APPROVED BY  [MICHAEL COOPER _ _ _ _ REvISIN
DATE APPROVED | FEB 2022 D OHC D013 SD 002 A
Ver. 2.0 33kV Constructions Page 4-11




Overhead Distribution Construction Manual

Section 4

4.5 Dead End 33kV — FRP Crossarm

—

1 \ \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
o
e)
«
T203A
B
(
D
HELICAL TERMINATIONS TO SUIT
CONDUCTOR SIZE/TYPE
£
=
F T206A
L a
o i
G
NOTES
H 1. FIT INSULATION SLEEVING TO ALL BRIDGING
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS
3. SUPERSEDES STEEL X-ARM CONST. APL Nos DIMENSIONS ARE IN MILLIMETRES
D-0HC-D003-5D-001 DE/33/3/FRP UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading das 1asNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
- @ TasNetworks THLE SCAIE
-2 DEAD END 33KV 130
<|Z FRP CROSSARM
o |2 DRAWN ELECTRO
w |2 DESIGNED BY | B.MAYBERRY
=
=|e CHECKED BY K.GOSDEN AAL
2 APPROVED BY REVISION
< MICHAEL COOPER _ _ _ _
D - OHC - DO1h - 50 - 001 A

Dead End 33kV — FRP Crossarm - Material List

Ver.

2.0

33kV Constructions

Page 4-12




Overhead Distribution Construction Manual Section 4
1 [ 2 [ 3 L [ 5
A
Store Type |Item Ref| Stock Item |Stock Item Description Quantity
DE/33/3/FRP S 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 9
61A 322056 |Ball Clevis & Pin 16mm 3
B 618 322386 [Socket Termination 16mm 3
61D 322090 ‘W' Clip / Kink Pin 12
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75Q 32290 Bolt Hex M16 X 400 - Thread Length 75mm 1
75W 32296 Bolt Hex M16 X 550 - Thread Length 75mm 1
82A 40441 Nut Hex M16 9
86B 65158  |Washer ELS M16 3
87D 65616 Washer NS M16 9
C T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 [XARM BRACE - 716x40x8 1
T206A 325628 [M16 EYE BOLT 150 - Thread Length 60mm 2
T206H 325636 |M16 EYE BOLT 400 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
D
E
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o frading as TasNefworks OF TRANSHITTED B ANY NEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
- @ TasNetworks TILE SCALE
(%]
—|a DEAD END 33KV NTS
<|Z FRP CROSSARM
DRAWN ELECTRO
x| Z MATERIAL LIST
w |2 DESIGNED BY | B.MAYBERRY VA
=le (HECKED BY | K.GOSDEN
< APPROVED BY MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED | FEB 2022 D OHC D014 SD 002 A
Ver. 2.0 33kV Constructions Page 4-13




Overhead Distribution Construction Manual

Section 4

4.6 Dead End Delta 33kV — FRP Crossarm

—

1 \ 2 \ 3 \ L 5
NB: ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE
3
A @
i o
N
(=]
B -
o
e
.y~
(
HELICAL TERMINATIONS TO
D SUIT CONDUCTOR SIZE/TYPE
(-
E
EDCDCDGD S S
L~
F
y:N Y
¢ ® " i & "
— L
G
NOTES
H | 1. FIT INSULATION SLEEVING TO ALL BRIDGING
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS
3. SUPERSEDES STEEL X-ARM (ONST. APL No DIMENSIONS ARE IN MILLIMETRES
D-0HC-D004-SD-001 DELTA DE/33/3/FRP UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
- @ TasNetworks THLE SCAIE
A DEAD END DELTA 33KV 130
<|Z FRP CROSSARM
o |2 DRAWN ELECTRO
w |2 DESIGNED BY | B.MAYBERRY
=
=|e CHECKED BY | K.GOSDEN AAL
2 APPROVED BY | MICHAEL COOPER REVISION
< — — — —
DATE APPROVED |FEB 2022 D O H [ D O /‘ 5 S D O O/‘ A
Ver. 2.0 33kV Constructions Page 4-14



Overhead Distribution Construction Manual Section 4
Dead End Delta 33kV — FRP Crossarm - Material List
1 [ 2 [ 3 5
A
B
Store Type [ltem Ref| Stock Item |Stock Item Description Quantity
DELTA S 60G 321260 _|Insulator Disc Porcelain 16mm 70Kn 146mm 9
C | |PE/33/3/FRP 61A 322056 |Ball Clevis & Pin 16mm 3
61B 322386 |Socket Termination 16mm 3
61D 322090 | 'W' Clip / Kink Pin 12
L 75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75Q 32290 Bolt Hex M16 X 400 - Thread Length 75mm 1
75W 32296 Bolt Hex M16 X 550 - Thread Length 75mm 1
82A 40441 Nut Hex M16 9
D 86B 65158 Washer ELS M16 3
87D 65616 Washer NS M16 9
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 |XARM BRACE - 716x40x8 1
— T206A 325628 [M16 EYE BOLT 150 - Thread Length 60mm 2
T206H 325636 [M16 EYE BOLT 400 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn trad T Net K STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
212 TasNetwork TITLE SCALE
- |2 astetworks DEAD END DELTA 33KV NTS
<|Z o FRP CROSSARM
DRAWN CTRO
ol = MATERIAL LIST
w = DESIGNED BY B.MAYBERRY A Z*'
e CHECKED BY | K.GOSDEN
< APPROVED BY |MCHAEL COOPER B B B _ REVISION
DATE APPROVED | FEB 2022 D OHC D O 15 SD O 02 A
Ver. 2.0 33kV Constructions Page 4-15




Overhead Distribution Construction Manual

Section 4

4.7 Dead End Vertical 33kV Double Circuit — FRP Crossarm

—

W | 2 |

3 ‘ L

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

1150

D@ EEED)

HELICAL TERMINATIONS TO_SUIT
CONDUCTOR SIZE/TYPE

H | NOTES

1. FIT INSULATION SLEEVING TO ALL BRIDGING
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS

=
-
i

APL Nos
DEVD(/33/3/FRP

=

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

TasNetworks

©Tusmumun Networks PTY. LTD.
trading as TasNetworks
ABN: 24 167 357 299

NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
OR TRANSMITTED BY ANY MEANS WITHOUT THE
PRIOR PERMISSION OF TASNETWORKS

TITLE

FRP CROSSARM

DRAWN

ELECTRO

DESIGNED BY

B.MAYBERRY

ORIGINAL ISSUE

CHECKED BY

K.GOSDEN

DEAD END VERTICAL 33KV DOUBLE CIRCUIT

SCALE

1:30

Ak

ALTERATIONS

APPROVED BY

MICHAEL COOPER

DATE APPROVED

FEB 2022

D - OHC -

D016

REVISION

001 A

,SD —

Ver. 2.0

33kV Constructions

Page 4-16



Overhead Distribution Construction Manual Section 4
Dead End Vertical 33kV Double Circuit — FRP Crossarm - Material List
1 2 3 5
A
B
L Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
DEVDC/33 S 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 18
I3IFRP 61A 322056 |Ball Clevis & Pin 16mm 6
61B 322386 |Socket Termination 16mm 6
C 61D 322090 | 'W' Clip / Kink Pin 24
75E 32279 |Bolt Hex M16 X 180 - Thread Length 57mm 3
75Q 32290 Bolt Hex M16 X400 - Thread Length 75mm 2
75R 32291 |Bolt Hex M16 X425 - Thread Length 75mm 1
— 75W 32296  |Bolt Hex M16 X550 - Thread Length 75mm 3
82A 40441 |Nut Hex M16 21
868 65158  |Washer ELS M16 6
87D 65616  |Washer NS M16 24
D T200E | 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 3
T203A | 323316 |XARM BRACE - 716x40x8 3
T206A | 325628 |M16 EYE BOLT 150 - Thread Length 60mm 6
T208B | 323307 |GAIN BLOCK 125mm 3
| T209D | 66807 |M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 3
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 Fradng as TosNetarks IO RIS ST A o
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
212 TasNetworks e SCALE
Zla DEAD END VERTICAL 33KV DOUBLE CIRCUIT NTS
<|Z FRP CROSSARM
DRAWN ELECTRO
ol = MATERIAL LIST
w | & DESIGNED BY B.MAYBERRY A A
= g
CHECKED BY K.GOSDEN
< APPROVED BY | MICHAEL COOPER D - OHC - sp - 007 REVISION
DATE APPROVED | FEB 2022 A
Ver. 2.0 33kV Constructions Page 4-17




Overhead Distribution Construction Manual Section 4
4.8 Strain 33kV — FRP Crossarm
1 \ 2 \ 3 \ 4 \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
. —
w
N A
<
F UNDERSLUNG BRIDGING
ON OUTERPHASES IS
PREFERRED
B
2068
C COMPRESSION SLEEVES OR
(55 X(56 ) WEDGE CONNECTORS TO
CONDUCTOR TIES TO SUIT SUIT CONDUCTOR SIZE/TYPE
CONDUCTOR SIZE/TYPE
UNDERSLUNG BRIDGIN
HELICAL TERMINATIONS TO SUIT MAY BE USGEDBONGOUGTER
D CONDUCTOR SIZE/TYPE PHASES IS PREFERRED
12060 X 12078 X T209D
£
F
&
G
NOTES
H | 1. FIT INSULATION SLEEVING TO ALL BRIDGING
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS
3. SUPERSEDES STELL X-ARM COSNT. APL Nos DIMENSIONS ARE IN MILLIMETRES
D-0HC-D005-SD-001 S/33/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n trad T Net k STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
- |3 TasNetworks T SCALE
-2 STRAIN 33KV 130
<|Z FRP CROSSARM
o« |= DRAWN ELECTRO
w |9 DESIGNED BY B.MAYBERRY AL
[a'4
= o CHECKED BY K.GOSDEN
2 APPROVED BY | MICHAEL COOPER REVISION
< _ _ _ _
DATE APPROVED | FEB 2022 D O H [ D O W 7 S D O Ow A
Ver. 2.0 33kV Constructions Page 4-18




Overhead Distribution Construction Manual Section 4
Strain 33kV — FRP Crossarm - Material List
1 [ 2 [ 3 L 5
A
B
| Unit Assembly [Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
S/33/3/FRP S 60F 320541 |Insulator, Pin Type 3
60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 18
C 61A 322056 [Ball Clevis & Pin 16mm 6
61B 322386 |Socket Termination 16mm 6
61D 322090 ‘W' Clip / Kink Pin 24
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
- 75Q 32290 Bolt Hex M16 X 400 - Thread Length 75mm 1
75W 32296 Bolt Hex M16 X 550 - Thread Length 75mm 1
82A 40441 Nut Hex M16 9
86B 65158 |Washer ELS M16 3
D 87D 65616 |Washer NS M16 9
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 |[XARM BRACE - 716x40x8 1
T204B New PIN, INSULATOR - (MORLYNN - C3007) 298mm stem - 58mm to base of insulator from xarm 3
1 T206B 325629 |M16 EYE BOLT 180 - Thread Length 60mm 2
T206C 325639 |[M16 EYE BOLT 500 - Thread Length 75mm 2
T207B 325740 |M16 EYE NUT 3
T208B 323307 |GAIN BLOCK 125mm 1
E T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o trading s Tasietworks SIS A RV TR O T
E4 ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
212 TasNetworks Tme SCALE
il STRAIN 3KV NTS
<|Z o FRP CROSSARM
DRAWN CTRO
ol = MATERIAL LIST
w = DESIGNED BY B. MAYBERRY A Z*'
e CHECKED BY | K. GOSDEN
< APPROVED BY | ANGUS KETLEY B B B _ REVISION
DATE APPROVED |01/08/2021 D OHC D017 SO 0 O 2 A
Ver. 2.0 33kV Constructions Page 4-19




Overhead Distribution Construction Manual Section 4
4.9 Strain Delta 33kV — FRP Crossarm
! | 2 \ b 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED
ON ALL BOLTS PASSING THRQUGH POLE.
A
B
— <= HELICAL TERMINATIONS TO
SUIT CONDUCTOR SIZE/TYPE
C 8
CONDUCTOR TIES TO SUIT o
CONDUCTOR SIZE/TYPE S
o)
oN
~
COMPRESSION SLEEVES OR
WEDGE CONNECTORS TO
3 SUIT CONDUCTOR SIZE/TYPE
F
c ;
NOTES
1. GENERALLY NO LV CONSTRUCTION
—{ " WITH THIS ARRANGMENT
BECAUSE OF REDUCED
CLEARANCES
2. FIT INSULATION SLEEVING TO ALL
BRIDGING
3. THIS ARRANGEMENT CAN BE USED
H IN BIRD PROBLEM AREAS
L. SUPERSEDES STEEL X-ARM
CONST. DIMENSIONS ARE IN MILLIMETRES
D-QHC-D007-5D-00t DELTA S/33/FRP UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n frading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o lw
-3 TasNetworks e SCALE
A STRAIN DELTA 33KV 130
<|Z FRP CROSSARM
I DRAWN ELECTRO
w |8 DESIGNED BY B.MAYBERRY
=
= o CHECKED BY K.GOSDEN AL
o
< APPROVED BY MCHAEL COOPER _ _ _ _ REVISION
oK oD [ 20 D - OHC - D018 sD 001 A
Ver. 2.0 33kV Constructions Page 4-20




Overhead Distribution Construction Manual Section 4
Strain Delta 33kV — FRP Crossarm - Material List
1 [ 2 [ 3 L 5
A
B
Store Type [Item Ref| Stock Item |Stock Item Description Qi y
Delta S/33/3/FRP S 60F 320541 |Insulator, Pin Type 1
60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 18
61A 322056 |Ball Clevis & Pin 16mm 6
61B 322386 [Socket Termination 16mm 6
61D 322090 ‘W' Clip / Kink Pin 24
C 75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75Q 32290 Bolt Hex M16 X400 - Thread Length 75mm 1
75W 32296 Bolt Hex M16 X550 - Thread Length 75mm 1
82A 40441 Nut Hex M16 9
86B 65158 Washer ELS M16 3
87D 65616 Washer NS M16 9
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
D T204B New PIN, INSULATOR - (MORLYNN - C3007) 298mm stem - 58mm to base of insulator from xarm 1
T206B 325629 |M16 EYE BOLT 180 - Thread Length 60mm 2
T206C 325639 |M16 EYE BOLT 500 - Thread Length 75mm 1
T207B 325740 |M16 EYE NUT 3
- T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» frading as TasNefworks OF TRANSHITTED B ANY NEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
- = TasNetworks TILE SCALE
-5 STRAIN DELTA 33KV NTS
<|Z = FRP CROSSARM
DRAWN CTRO
= MATERIAL LIST
w = DESIGNED BY B.MAYBERRY A A
e CHECKED BY | K.GOSDEN
= APPROVED BY ANGUS KETLEY REVISION
< — — — —
DATE APPROVED | 01/18/2021 D OHC D O 18 SD 002 A
Ver. 2.0 33kV Constructions Page 4-21




Overhead Distribution Construction Manual

Section 4

4.10 Strain Underslung Vertical 33kV Double Circuit — FRP Crossarm

—

N

1 \ 2 \ 3 \ 4 \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
i
B
C a2
a7
T203A i
D 0 i
HELICAL TERMINATIONS
70 SUIT CoNDUCTOR (53 )
SIZE/TYPE
£
COMPRESSION SLEEVES OR
WEDGE CONNECTORS TO
SUIT CONDUCTOR SIZE/TYPE
F =
—
G
H | NoTES
1. FIT INSULATION SLEEVING TO ALL BRIDGING APL Nos DIMENSIONS ARE IN MILLIMETRES
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS SVDC/33/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trad TasNet k STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
- |3 TasNetworks e SCALE
A STRAIN UNDERSLUNG VERTICAL 33KV 130
< |z DOUBLE CIRCUIT
DRAWN ELECTRO
x| = FRP CROSSARM
w = DESIGNED BY B.MAYBERRY AL
= o CHECKED BY K.GOSDEN
o
< APPROVED BY MICHAEL COOPER D OH[ DO /‘9 S D OO/‘ REVISION
DATE APPROVED | FEB 2022 A
Ver. 2.0 33kV Constructions Page 4-22



Overhead Distribution Construction Manual Section 4
Strain Underslung Vertical 33kV Double Circuit — FRP Crossarm - Material List
1 2 [ 3 [ L [ 5
A
B
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
SVDC/33/3/FRP S 60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 36
61A 322056  |Ball Clevis & Pin 16mm 12
61B 322386 |Socket Termination 16mm 12
61D 322090 'W' Clip / Kink Pin 48
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 3
¢ 75Q 32290 Bolt Hex M16 X400 - Thread Length 75mm 2
75R 32291 Bolt Hex M16 X425 - Thread Length 75mm 1
75W 32296 Bolt Hex M16 X550 - Thread Length 75mm 3
82A 40441 Nut Hex M16 21
86B 65158 Washer ELS M16 6
87D 65616 Washer NS M16 24
T200E 323223 [CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 3
D T203A 323316 [XARM BRACE - 716x40x8 3
T206B 325629 [M16 EYE BOLT 180 - Thread Length 60mm 6
T207B 325740 [M16 EYE NUT 6
T208B 323307 [GAIN BLOCK 125mm 3
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 3
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
=} TasNetworks THTLE SCALE
A STRAIN UNDERSLUNG VERTICAL 33KV NTS
< |z DOUBLE CIRCUIT FRP CROSSARM
< DRAWN ELECTRD
=z MATERIAL LIST
w9 DESIGNED BY | B.MAYBERRY A Z+
e CHECKED BY | K.GOSDEN
-
< APPROVED BY | ANGUS KETLEY _ _ _ _ REVISION
DATE APPROVED | 01/08/2021 D O H [ D O /‘ 9 SD O O 2 A
Ver. 2.0 33kV Constructions Page 4-23




Overhead Distribution Construction Manual

Section 4

4.11 Strain Right Angle 33kV — FRP Crossarm

—

1 2

NB ENSURE THAT LOCK NUTS ARE INSTALLED
ON ALL BOLTS PASSING THROUGH POLE.

o
A &
Q) 17
B 2
N
HELICAL TERMINATIONS TO o
SUIT CONDUCTOR SIZE/TYPE =3
( <
D
— COMPRESSION SLEEVES OR
WEDGE CONNECTORS TO SUIT
CONDUCTOR SIZE/TYPE
£
CONDUCTOR TIES TO SUIT
CONDUCTOR SIZE/TYPE
F
®
o
82A <
610 ) 618 X 61A X 606G 868
87D
G T206H
T209D
°
b
NOTES
H | 1. FIT INSULATION SLEEVING TO ALL BRIDGING
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS
3. SUPERSEDES STEEL X-ARM CONST. APL Nos DIMENSIONS ARE IN MILLIMETRES
D-0HC-D008-5D-001 RS/33/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n frading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
- |3 TasNetworks e SCALE
A STRAIN RIGHT ANGLE 33kV 14,0
< |z FRP CROSSARM
I DRAWN ELECTRO
w |8 DESIGNED BY B.MAYBERRY
=
= o CHECKED BY K.GOSDEN AL
2 APPROVED BY REVISION
< MICHAEL (OOPER _ _ _ _
D - 0RC - D020 - SD - 007 A
Ver. 2.0 33kV Constructions Page 4-24



Overhead Distribution Construction Manual Section 4
Strain Right Angle 33kV — FRP Crossarm - Material List
1 [ 2 [ 3 5
A
B
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
RS/33/3/FRP S 60F 320541 |Insulator, Pin Type 2
C 60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 18
61A 322056 |[Ball Clevis & Pin 16mm 6
61B 322386 |Socket Termination 16mm 6
61D 322090 ‘W' Clip / Kink Pin 24
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 2
75Q 32290 Bolt Hex M16 X400 - Thread Length 75mm 2
75W 32296 Bolt Hex M16 X550 - Thread Length 75mm 2
82A 40441 Nut Hex M16 18
D 86B 65158 Washer ELS M16 6
87D 65616 Washer NS M16 18
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 2
T203A 323316 [XARM BRACE - 716x40x8 2
T204B New PIN, INSULATOR - (MORLYNN - C3007) 298mm stem - 58mm to base of insulator from xarm 2
T206A 325628 [M16 EYE BOLT 150 - Thread Length 60mm 4
T206H 325636 [M16 EYE BOLT 400 - Thread Length 75mm 2
T208B 323307 [GAIN BLOCK 125mm 2
E T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 4
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w frading as TasNefworks OF TRANSHITTED 8. ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
21z TasNetworks TLE SCALE
Zla STRAIN RIGHT ANGLE 33kV NTS
<|Z o FRP CROSSARM
DRAWN CTRO
ol = MATERIAL LIST
w = DESIGNED BY B.MAYBERRY A A
e CHECKED BY | K.GOSDEN
-
<< APPROVED BY ANGUS KETLEY _ _ _ _ REVISION
DATE APPROVED | 01/08/2021 D OHC SD 002 A
Ver. 2.0 33kV Constructions Page 4-25




Overhead Distribution Construction Manual Section 4

4.12 Strain Right Angle Delta 33kV — FRP Crossarm
-

1 \ 2 | 3 | b
NB ENSURE THAT LOCK NUTS ARE INSTALLED
ON ALL BOLTS PASSING THROUGH POLE.
A
D
g
B ]
HELICAL TERMINATIONS TO
SUIT CONDUCTOR SIZE/TYPE
T204B
(
-
—
D
P CONDUCTOR TIES TO SUIT
HELICAL TERMINATIONS TO N CONDUCTOR SIZE/TYPE
SUIT CONDUCTOR SIZE/TYPE
£
T206A
|ﬂ * *
F T209D :
T206H
87D
86B
- 82A
6 COMPRESSION SLEEVES OR
0 0 0 56
WEDGE CONNECTORS TO SUIT -6
CONDUCTOR SIZE/TYPE
NOTES
H 1. FIT INSULATION SLEEVING TO ALL BRIDGING
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS
3. SUPERSEDES STEEL X-ARM CONST. APL Nos DIMENSIONS ARE IN MILLIMETRES
D-0HC-D009-SD-001 DELTA RS/33/3/FRP UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading das 1asNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
- |3 TasNetworks e SCALE
A STRAIN RIGHT ANGLE DELTA 33KV 14,0
<|Z FRP CROSSARM
o |2 DRAWN ELECTRO
w |2 DESIGNED BY B.MAYBERRY
=
=1e CHECKED BY K.GOSDEN AL
2 APPROVED BY REVISION
< MICHAEL COOPER _ _ _ _
D - OHC - D021 S0 - 001 A
Ver. 2.0 33kV Constructions Page 4-26




Overhead Distribution Construction Manual

Section 4

Strain Right Angle Delta 33kV — FRP Crossarm - Material List

—

1 l 2 l l :
A
B
Store Type [Item Ref| Stock Item |Stock Item Description Quantity
DELTA S 60F 320541 |Insulator, Pin Type 2
RS/33/3/FRP 60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 18
61A 322056 [Ball Clevis & Pin 16mm 6
C 61B 322386  |Socket Termination 16mm 6
61D 322090 ‘W' Clip / Kink Pin 24
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 2
75Q 32290 Bolt Hex M16 X 400 - Thread Length 75mm 2
75W 32296 Bolt Hex M16 X 550 - Thread Length 75mm 2
82A 40441 Nut Hex M16 18
86B 65158 Washer ELS M16 6
87D 65616 Washer NS M16 18
- x125x125 - CA- .834m
D T200E 323223 |[CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 2
T203A 323316 [XARM BRACE - 716x40x8 2
T204B New PIN, INSULATOR - (MORLYNN - C3007) 298mm stem - 58mm to base of insulator from xarm 2
T206A 325628 [M16 EYE BOLT 150 - Thread Length 60mm 4
— T206H 325636 [M16 EYE BOLT 400 - Thread Length 75mm 2
T208B 323307 [GAIN BLOCK 125mm 2
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 3
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn tradin T Net K STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
g as lasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
E4 ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
22 TasNetworks Tme SCALE
Zla STRAIN RIGHT ANGLE DELTA 33KV NTS
<|Z = FRP CROSSARM
DRAWN CTRO
ol = MATERIAL LIST
w = DESIGNED BY B.MAYBERRY A A
e CHECKED BY | K.GOSDEN
-
< APPROVED BY | ANGUS KETLEY _ _ _ _ REVISION
DATE APPROVED |01 AUGUST 2021 D O H [ D 02 /‘ S D O O 2 A
Ver. 2.0 33kV Constructions Page 4-27




Overhead Distribution Construction Manual Section 4

33kV STEEL CROSSARM CONSTRUCTIONS

4.13Intermediate 33kV - Flat MK5 Crossarm
[ ]

1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
B %
z & %
- 4 .‘H"
C
D <~
TIE-TO SUIT CONDUCTOR SIZE/TYPE
£
F
-
G
H
APL No DIMENSIONS ARE IN MILLIMETRES
1/36/3/PLM UNLESS OTHERWISE STATED
£ © Tasmanian Networks PTY. LTD. STORED N A RETRIEVAL SYSTEM N ANY FORY.
e = o trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ; E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y W [T} s = SCALE
—|a & Bl 5| TasNetworks e
—|a %g §§ 3 INTERMEDIATE 33kV - FLAT NTS
<|a] 2 = EajE3E3| MKS CROSSARM
o |Z| a8 DRAWN (5 PRO-SOLUTIONS
zZ| 3= w
w |2 ov < DESIGNED BY ELECTRO
x| 27 2l 5 Ak
= e < S m == CHECKED BY H.WESTBURY
- =2 A KETLEY REVISION
< oo APPROVED BY _ _ _ _
= DATE APPROVED | 29/MAY/19 D O H [ D O O /‘ S D O O /‘ B

Ver. 2.0 33kV Constructions Page 4-28



Overhead Distribution Construction Manual Section 4
Intermediate 33kV - Flat MK5 Crossarm - Material List
1 | 2 | 3 | 4 5
A
INTERMEDIATE FLAT - MATERIALS LIST
o Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
g | |V36/3/PLM S 4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 1
1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 1
75M 32287 |BOLT,HEX HEAD M16 X 325MM GAL. C/W NUT 1
] 75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 1
778 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 2
82A 40441 |NUT,HEX M16 THREAD GALANISED STEEL 2
c 368 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 2
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 2
60M | 320551 [INSULATOR,LINE POST S/C 36KV PORCELAIN 3
] 2A 323314 |BRACE,CROSSARM 40 X 700 X 5SMM THICK GAL 2
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 O adng as Yosencorc BT A s ST B
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
- |2 TasNetworks | "™ |\ TERMEDIATE 33kV - FLAT NTS
< :(' DRAWN (5 PRO-SOLUTIONS MKS [ROSSARM
« |2 MATERIALS LIST
w = DESIGNED BY ELECTRO AA
: o CHECKED BY H.WESTBURY
APPROVED BY | A KETLEY REVISION
< DATE APPROVED | 29/MAY/19 D - O H [ - D O O /‘ - S D - O O 2 A
Ver. 2.0 33kV Constructions Page 4-29



Overhead Distribution Construction Manual Section 4

4.14Intermediate 33kV - Delta MK5 Crossarm
-

1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
60M
B
=) ki
)
]
°
8 ]
L]
C
L e { Pl
D L
£
TIE-TO SUIT CONDUCTOR SIZE/TYPE
F F——
75N 75M 82A 868 [ Ep—
q____
G 5
’ FRP CROSSARMS PREFERRED
APL No DIMENSIONS ARE IN MILLIMETRES
DELTA 1/36/3/PLM UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n ) = t din as TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
= <] rading OR TRANSMITTED BY ANY MEANS WITHOUT THE
= = 2 ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w| & o, = SCALE
Sl i 5o g TasNetwork: TME
Ceg EER erworks INTERMEDIATE 33kV - DELTA NTS
< |2 = e 3| MK5 CROSSARM
~|Z2ed DRAWN €5 PRO-SOLUTIONS
Z2F
w|sBey DESIGNED BY | ELECTRO
=] .
e E oo - 5 CHECKED BY | HWESTBURY Ak
- =2 B A KETLEY REVISION
< 29 SEEZRS APPROVED BY _ B 7 B
= 2 EEg= DATE APPROVED | 29/MAY /19 D OHC D002 SD 001 B

Ver. 2.0 33kV Constructions Page 4-30



Overhead Distribution Construction Manual Section 4
Intermediate 33kV - Delta MK5 Crossarm — Material List
1 | 2 | 3 | L 5
A
INTERMEDIATE DELTA - MATERIALS LIST
B
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
L —{ [Delta I/36/3/PLM S 4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 1
1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 1
75M 32287 |BOLT,HEX HEAD M16 X 325MM GAL. C/W NUT 1
C 75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 3
778 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 2
82A 40441 |NUT,HEX M16 THREAD GALANISED STEEL 8
- 868 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 2
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 2
60M | 320551 |INSULATOR,LINE POST S/C 36KV PORCELAIN 3
D 2A 323314 |BRACE,CROSSARM 40 X 700 X 5SMM THICK GAL 2
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 O i Toievorss TSI e AT
=z ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |y SCALE
-2 TasNetworks | "™\ TERMEDIATE 33kV - DELTA NTS
< :(' DRAWN (5 PRO-SOLUTIONS MKS [ROSSARM
E MATERIALS LIST
w = DESIGNED BY ELECTRO A4
: = CHECKED BY H.WESTBURY
APPROVED BY A KETLEY REVISION
= DATE APPROVED | 29/MAY/19 D - O H [ - D O O 2 - S D - O O 2 A
Ver. 2.0 33kV Constructions Page 4-31




Overhead Distribution Construction Manual Section 4

4.15Dead End 33kV Flat — MK5 Crossarm

—

1 2 3 \ 4 5

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

,
5
(

NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY

D
1 HELICAL TERMINATION TO sSUIT (53 )
CONDUCTOR SIZE/TYPE
£
s
F
g
o
o
] °
]
G

H FRP CROSSARMS PREFERRED

APL No DIMENSIONS ARE IN MILLIMETRES
DES/36/3/PLM UNLESS OTHERWISE STATED
(<]
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
r STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v =1 <) frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= o E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y I 7] 5 SCALE
— | R|lew H TasNetworks TE
- 1228 Q% g DEAD END 33kV - FLAT NTS
%) 3 2
< |zl 'z = E MK5 CROSSARM
«|Z|a ] DRAWN (5 PRO-SOLUTIONS
w|Z|as ¢ DESIGNED BY | ELECTRO
=22 2 Ak
e z E &S] B CHECKED BY HWESTBURY
- =z 2Ra REVISON
< =% 2 APPROVED BY | A KETLEY -~ _ -~ -~
Sg< DATE APPROVED | 29/MAY/19 D O H [ D 00 3 S D 00 /‘ B

Ver. 2.0 33kV Constructions Page 4-32



Overhead Distribution Construction Manual Section 4
Dead End 33kV Flat MK5 Crossarm — Material List
1 | | 3 | A 5
A
DEAD END - FLAT - MKS5 CROSSARM - MATERIALS LIST
] Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
DES5/36/3/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
B 1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 9
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 3
61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 3
| 61D 322090 |(CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 4
752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
77B 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
C 85B 50250 |(COACH SCREW,HEX HEAD 12MM X 100MM GAL 1
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 4
88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 4
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
« trading as TasNetworks oR TRANSHITED B ARY_HEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
=} TITLE SCALE
-2 TasNetworks DEAD END 33kV - FLAT NTS
<|z - — MKS CROSSARM
RAWN (5 PRO-SOLUTION!
E MATERIALS LIST
w | = DESIGNED BY ELECTRO A["
o
Lol 5 CHECKED BY H.WESTBURY
g |
<< APPROVED BY A KETLEY _ _ _ _ REVISION
DATE APPROVED | 29/MAY/19 D O H [ D O O 3 S D O O 2 A
Ver. 2.0 33kV Constructions Page 4-33




Overhead Distribution Construction Manual Section 4
4.16Dead End 33kV Delta — MK5 Crossarm
2 A 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
)
B
: N
=
61D 61B 61A X 60G 80C
D L S
I
]
I
HELICAL TERMINATION TO SUIT 53 | 868 88A
— CONDUCTOR SIZE/TYPE |
I
d.r
I
I
]
E H%)B{H%; I
<
F
5
o
g
G
' FRP CROSSARMS PREFERRED
APL No DIMENSIONS ARE IN MILLIMETRES
DELTA DE5/36/3/PLM UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
ol | o WE i P D R T b A o
= & E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°ls e 9 5| g TITLE SCALE
- |2|ek A TasNetworks DEAD END 33kV - DELTA NTS
<|u| = [ 3= MKS5 CROSSARM
o Z SS N DRAWN (5 PRO-SOLUTIONS
w |2 85 g DESIGNED BY ELECTRO
z g zg CHECKED BY HWESTBURY AA
<t é % APPROVED BY A KETLEY D _ O H E _ DO O L _ S D _ OO/‘ REVISION
- DATE APPROVED | 29/MAY/19 B
Ver. 2.0 33kV Constructions Page 4-34




Overhead Distribution Construction Manual

Section 4

Dead End 33kV Delta - MK5 Crossarm — Material List

1 | 2 | 3 | 4
A
DEAD END - DELTA - MK5 CROSSARM - MATERIALS LIST
— Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
Delta DE5/36/3/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
B 1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 9
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 3
] 61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 3
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
80C 37260|EYE BOLT,FORGED M20 X 325MM GAL C/W NUT 1
C 752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
778 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 1
L 102A 325842 |EYE-NUT,M20 THREAD GAL STEEL 1
86C 65159 |WASHER,FLAT ROUND M20 X 60MM GAL 1
2A 323314 |BRACE,CROSSARM 40 X 700 X 5SMM THICK GAL 4
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 ©frsing a Tostarores SETE A ETIEA Tot
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
-2 TasNetworks \"™"nEAD END 33kV - DELTA NTS
: g DRAWN (5 PRO-SOLUTIONS ME?E[RTELSSS ALR‘SMT
w g DESIGNED BY ELECTRO AA
: © (HECKED BY H.WESTBURY
APPROVED BY [ A KETLEY REVISION
= DATE APPROVED | 29/MAY/19 D - O H [ - D O O 4 - S D - O O 2 A
Ver. 2.0 33kV Constructions Page 4-35




Overhead Distribution Construction Manual Section 4
4.17Strain 33kV - Flat MK5 Crossarm
1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
/ . \
B —
| A
- Ne]
(
— (55 COMPRESSION SLEEVES OR WEDGE
CONDUCTOR TIES TO SUIT CONNECTORS TO SUIT CONDUCTORS
CONDUCTOR SIZE/TYPE
D
s
HELICAL TERMINATION TO SUIT (53 1
CONDUCTOR SIZE/YPE ED
S A nu— L NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
I (.
F
> * /—(
@
G
———————
H
NOTE APL No DIMENSIONS ARE IN MILLIMETRES
FIT INSULATION SLEEVING TO ALL BRIDGING S5/36/3/PLM UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
™ STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n a o trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ; E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
e8] ok S| 5| § TasNetworks TmE SCALE
C |8 = ZEELSLS STRAIN 33kV - FLAT NTS
<|2 [l [ EN MKS5 CROSSARM
o DRAWN (5 PRO-SOLUTIONS
x| = 2= " OPEN WIRE
() 4 85 % = DESIGNED BY ELECTRO AA
o] <=E|m@m EEs CHECKED BY | HWESTBLRY
- £Z 2Eu ApPROVED BY | A KETLEY REVISION
< 25 ] _ _ _ _
== R DATE APPROVED | 29/MAY/19 D OHC D005 SD 001 B
Ver. 2.0 33kV Constructions Page 4-36




Overhead Distribution Construction Manual Section 4

Strain 33kV - Flat MK5 Crossarm — Material List

1 [ 2 [ 3 [ L 5

A
| STRAIN - FLAT - MK5 CROSSARM - MATERIALS LIST
Store Stock
B Unit Assembly Type Item Ref Item Stock Item Description Quantity
S5/36/3/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 3
4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 2
| 1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 18
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
C 61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 9
75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 4
— 752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
77B 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
82A 40441 |NUT,HEX M16 THREAD GALANISED STEEL 4
D 85B 50250 |COACH SCREW,HEX HEAD 12MM X 100MM GAL 1
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 4
88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
— 60M 320551 |INSULATOR,LINE POST S/C 36KV PORCELAIN 3
2A 323314 |BRACE,CROSSARM 40X 700 X 5MM THICK GAL 4

G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,

" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
4 trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMSSION OF TASNETWORKS
oy CALE
=~ TasNetworks Tine s
Z 14 STRAIN 33kV - FLAT NTS
< 2‘ DRAWN (5 PRO-SOLUTIONS MKS [ROSSARM

0-S0 ol
- % DESIGNED BY ELECTRO O P E N W ‘ R E
w | =
I MATERIALS LIST AL
CHECKED BY H.WESTBURY
-
< APPROVED BY | A KETLEY _ _ _ _ REVISON
DATE APPROVED | 29/MAY/19 D O H [ D O O 5 S D O O 2 A

Ver. 2.0 33kV Constructions Page 4-37



Overhead Distribution Construction Manual

Section 4

4.18Strain 33kV — Flat Underslung Bridging MK5 Crossarm

-

1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
? ERLAN \ A/ 7\
TIE TO SUIT CONDUCTOR
B SIZE/TYPE
C HELICAL TERMINATION TO
SUIT CONDUCTOR SIZE/TYPE
—
— @
NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
g
D
3
~
o
2
Q
E COMPRESSION SLEEVE OR
CONNECTOR WEDGE TO SUIT
— CONDUCTOR TYPE/SIZE
F
o
R T
W) ;
____________ <_>:<)
+ + oL + + ¢
G
NOTES
H | 1. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. F R p [ R O S S A R M S p R E F E R R E D
2. USE INCREASED CLEARENCES TQ SUB CIRCUITS TO ALLOW FOR
UNDERSLUNG BRIDGING APL No DIMENSIONS ARE IN MILLIMETRES
3. FIT INSULATION SLEEVING TO ALL BRIDGING SU5/36/3/PLM UNLESS OTHERWISE STATED
L © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w» - trad TasNet K STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
a o rading as fasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= é E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy w vl | 5 5 SCALE
“13las ol § § TasNetworks Tme
— |5 %g %ﬁwgu STRAIN 33kV - FLAT UNDERSLUNG BRIDGING NTS
< |z = FEas3Es MK5 CROSSARM
P ; S g DRAWN (5 PRO-SOLUTIONS
w @ Qv E DESIGNED BY ELECTRO
z|les o
lo|<Ela| | BElLE CHECKED BY | HWESTBURY AL
:( E 2 E%%g&; APPROVED BY | A KETLEY REVISION
== RS DATE APPROVED | 29/MAY /19 D - OHC - D006 - SD - 001 B
Ver. 2.0 33kV Constructions Page 4-38




Overhead Distribution Construction Manual Section 4

Strain 33kV - Flat Underslung Bridging MK5 Crossarm — Material List

1 | 2 | 3 | 4 | 5

A STRAIN FLAT - UNDERSLUNG BRIDGING - MATERIALS LIST
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
SU5/36/3/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
B 60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 18
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
| 61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 9
75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 4
752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
C 778 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
85B 50250 |COACH SCREW,HEX HEAD 12MM X 100MM GAL 1
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 4
— 88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
6A 323315 |Insulator Bracket 33kV (Not Stocked - Place Order) 1
60M 320551 |INSULATOR,LINE POST S/C 36KV PORCELAIN 1
D 2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 4

E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,

" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
E3 ABN: 24 167 357 299 PRIOR OF TASNETWORKS
bl TasNetworks T SAE
— |48 STRAIN 33kV - FLAT UNDERSLUNG BRIDGING NTS
<|2 — P —— MK5 CROSSARM

DR (5 PRO-SOI 0!
x|z MATERIALS LIST
w | = DESIGNED BY ELECTRO AL
-4
Ll K5 CHECKED BY H.WESTBURY
-
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 29/MAY/19 D OHC D006 SO 002 A

Ver. 2.0 33kV Constructions Page 4-39



Overhead Distribution Construction Manual Section 4

4.19Delta 33kV - Strain MK5 Crossarm
-

1 \ 2 \ 3 4 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
TIE TO SUIT CONDUCTOR
SIZE/TYPE
B
HELICAL TERMINATION TO
SUIT CONDUCTOR SIZE/TYPE
(
P
0
2
D o
~
~
1 S
COMPRESSION SLEEVE OR
CONNECTOR WEDGE T0 sUIT( 56 )
E CONDUCTOR TYPE/SIZE
F
°
R - N
. < @S ;
T S i T
G
NOTES
H | 1. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. F R P [ R O S S A R M S P R E F E R R E D
2, USE INCREASED CLEARANCES TO SUB CIRCUITS TO ALLOW FOR
UNDERSLUNG BRIDGING APL No DIMENSIONS ARE IN MILLIMETRES
3. FIT INSULATION SLEEVING TO ALL BRIDGING DELTA S5/36/3/PLM UNLESS OTHERWISE STATED
© © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
- = trad TasNefwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
= o rading as lasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= & E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
213lal 2k § § TasNetworks e SCALE
— 3| x& g§§wSMS STRAIN 33kV - DELTA NTS
Llea EZ8es
<|z| ' = = Eol33is3] MK5 CROSSARM
o |2 e DRAWN (5 PRO-SOLUTIONS
w|Z|au ] DESIGNED BY | ELECTRO
=las L3 -
e <E oL EELE CHECKED BY | HWESTBURY Ak
= w BolS =58
=] CelozRE REVISION
< 53 BLEEES APPROVED BY | A KETLEY -~ _ -~ -~
= g“§§‘§'5 DATE APPROVED | 29/MAY /19 D O H [ D O O 7 S D O O/‘

Ver. 2.0 33kV Constructions Page 4-40



Overhead Distribution Construction Manual Section 4

Delta33kV - Strain MK5 Crossarm — Material List

1 | 2 | 3 | L 5
A
STRAIN - DELTA - MK5 CROSSARM - MATERIALS LIST
— Store Stock
Unit Assembly Type ltem Ref Item Stock Item Description Quantity
DeltaS5/36/3/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
B 102A 325842 |EYE-NUT,M20 THREAD GAL STEEL 1
1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 18
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
| 61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 9
75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 4
C 752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
77B 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
80D 37261 |EYE BOLT,FORGED M20 X 350MM GAL C/W NUT 1
— 85B 50250 |COACH SCREW,HEX HEAD 12MM X 100MM GAL 1
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 4
88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
D 6A 323315 |Insulator Bracket 33kV (Not Stocked - Place Order) 1
60M 320551 |INSULATOR,LINE POST S/C 36KV PORCELAIN 1
2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 4
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
2 O g s Neskerores TR o ENG vt
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
-2 TasNetworks | ™S TRAIN 33kV - DELTA NTS
=< 2‘ DRAWN (5 PRO-SOLUTIONS MKS [ROSSARM
E E DESIGNED BY ELECTRO MATER‘ALS L‘ST AL
: o CHECKED BY H.WESTBURY
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 29/MAY/19 D O H [ D O O 7 S D O O 2 A

Ver. 2.0 33kV Constructions Page 4-41



Overhead Distribution Construction Manual Section 4
4.20 Strain 33kV - Right Angled MK5 Crossarm
1 \ 2 \ 3 \ 4 \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE. %\
S.I. No. 32.05.51
2
A
-
&
NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
B
COMPRESSION SLEEVES OR WEDGE
CONNECTOR TO SUIT CONDUCTOR
SIZE/TYPE
CONDUCTOR TIE TO SUIT
CONDUCTOR SIZE/TYPE NB CENTRE DISC INSULATORS
C OMITTED FOR CLARITY
HELICAL TERMINATION TO SUIT
CONDUCTOR SIZE/TYPE
D
£
F 3
I S ST S S S
G
o Q looocoopo O
H
NOTE APL No DIMENSIONS ARE IN MILLIMETRES
1. FIT INSULATION SLEEVING TO ALL BRIDGING RS5/36/3/PLM UNLESS OTHERWISE STATED
! © THSWGWHH NEfWUFkS PT\( LTD NO PART OF THIS DRAWING MAY BE REPRODUCED,
n ) S r d T N r k STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
a <] rading as lasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= & E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w| & ®L | o o SCALE
Z12lay 5o § B TasNetworks TE
C Bl Zegols STRAIN 33kV - RIGHT ANGLE 130
@ E2lgls
<|o| = NS MKS5 CROSSARM
I~ ; =3=} DRAWN (5 PRO-SOLUTIONS
w o EC g DESIGNED BY ELECTRO AA
== 3|z
e <E s e CHECKED BY | HWESTBURY
- L @ ol B Y
=z arlg 2T v REVISION
< oo %E§§%E APPROVED BY - _ _ _ _
= zolgEEs DATE APPROVED | 29/MAY/19 D OHC D O O 8 SD O OW B
Ver. 2.0 33kV Constructions Page 4-42




Overhead Distribution Construction Manual Section 4

—

Strain 33kV - Right Angled Strain MK5 Crossarm - Material List

1 [ 2 [ 3 [ 4 [ 5
A
B
C Store Type [ltem Ref| Stock Item |Stock Item Description Qi
DELTA S 60F 320541 |Insulator, Pin Type 2
RS/33/3/FRP 60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 18
61A 322056 [Ball Clevis & Pin 16mm 6
[ 61B 322386  |Socket Termination 16mm 6
61D 322090 ‘W' Clip / Kink Pin 24
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 2
75Q 32290 Bolt Hex M16 X400 - Thread Length 75mm 2
75W 32296 Bolt Hex M16 X 550 - Thread Length 75mm 2
D 82A 40441 Nut Hex M16 18
86B 65158 Washer ELS M16 6
87D 65616 Washer NS M16 18
T200E NEW CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 2
| T203A NEW XARM BRACE - 716x40x8 2
T204B NEW PIN, INSULATOR - (MORLYNN - C3007) 298mm stem - 58mm to base of insulator from xarm 2
T206A NEW M16 EYE BOLT 150 - Thread Length 60mm 4
T206H NEW M16 EYE BOLT 400 - Thread Length 75mm 2
E T208B NEW GAIN BLOCK 125mm 2
T209 NEW M16 Volute Washer (Top ID 18mm, Base OD 60m, Ht 28mm before compression,6.0mm Thick) 4
T209D NEW M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 4
T205A NEW M16 Spring Washer - Galvanised Spring Steel DIN127B (OD: 27mm, ID: 16.2 - 17.0mm, Thickness: 3.5) 8
— T228 NEW Nut Hex M24 (36mm across Flats, 21mm Thick) 2
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 2
T229B NEW M24 Spring Washer - Galvanised Spring Steel DIN127B (OD: 40mm, ID: 24.5 - 25.5mm, Thickness: 5.0) 2
F
G
H
. © asnarian Nefworks PTY. LTD. STORED N A RETRIEVAL SYSTEM N ANY FORY.
OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (s SCALE
- |3 TasNetworks | ™S TRAIN RIGHT ANGLE DELTA 33KV NTS
== DRAWN ELECTRD FRP CROSSARM
== MATERIAL LIST
w = DESIGNED BY B.MAYBERRY A L
e CHECKED BY K GOSDEN
: APPROVED BY | ANGUS KETLEY REVISION
DATE APPROVED |01 AUGUST 2021 D - O H [ - D 02 W - S D - O O 2 A

Ver. 2.0 33kV Constructions Page 4-43



